2. M. Chris designed a Pratt Truss bridge with a structure thot
slanted towards the center of the bndge. In ordertobe @
Pratt Truss bndge. the bndge has to contain nght nangles
in its design. However, his desgn was rejected by the
construction firm. The firm said that Mr. Chiis's design failed
to meet the Pratt Truss requirements.
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a. Consider the above representation of the bridge Mr.
Chms designed. Prove that the construchon firm was

-::&:rrec’r in its reech ol Mr. Chns's design.
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b. Whaot ophons does Mr, Chns have 1o lix the designs

Justify your answer,
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You try!

1. Clay designs roofs that form 2 congruant n'gm fl‘i-l:|r‘|g|E'5-. His
designs are flowless, He submitted his lofest design to
firm along with three other contractors, and the firm
salacted Clay's plan, Which of the following designs i
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Using the Pythagorean Theorem, how can you tell if the triangle is acute or

obtuse?
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Let's Practice

Classify the triangle by the angle degree; ri
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